EARAROBEEIERT — 2 N— IBISH —F

20165E3A6H (B) 2mE114H

Il s>%3% 5005F (BA)

[($57E] Fikb

‘ [R1&] & ‘ [RERBE] — | & (£) 12000 B

[A~&£] 17 :7,200,000  ~ 23 :2,900,000 @ 3 7 :1,800,000

/473 11,100,000 5 7& :720,000 /M

ABICOVWTRDTEEERROODE. TR LIV,

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. # 3 | FlREX 1:12.1 2-2 37.7) 96.3 | 1 540 | FIEHE—ER ()
11610 @37~ 5.0 =) Cio) | EEAE
AL :Exchange Rate £3:Back in the Shade Machmer Hal l
e . # 3 | KREER 1:12.7 10-9 37.6| 91.1 | 4 470 | PR (EiH)
2/1]1|7>¥=t>h 56.0 (3 1/2) (+a) | BIIEEE
R:bh—€>T54F BANRIHTAX BRREStt IXF1T77—LA
. 4 3 | mEEE 1:12.7 8-6 379/ 91.0 | 5 468 | REEZR] (2H)
317|14| VA=Y — 54.0 (NF) g | W) G1L—v>y
R:d—IKR7Ya—b B:RY—KRLILHY— BRT77— LA
1Y i 3 | SHE2 1:12.8 15-13 | 37.3| 90.4 | 8 492 | S (£H)
56.0 (3/4) (+20) HAREE—
X140 B3R =B e ]
2 43 | ANIEIGH 1:13.0 11-9 37.8| 8.4 | 3 464 | B (EH)
7 —FK A53.0 (' 1/4) o |FR#—
L7 RIAYA=F BTV LIy b BRT U H IS
. o L % : - m e i
RES 4RIy 7 X # 3 5"3?3 B 1.(113).2 3-3 38.6| 86.8 | 11 466 igg; (£4)
RL:d—IRK7Ya2—)b B:EY2-TUT7> #2) B Bz
-5 4 3 | REMR 1:13.3 12-13 | 38.0| 85.7 | 14 | 468 |/M&ILME (5%ik)
2ZH7 A53.0 (1/2) (o) | TR
Rv—NFAHFLF— B TO-KXYAL I EHE%
. . R— : — BAE (@)
Keyho v i 3 i (11.113/.25) 3-5 38.9| 84.4 | 6 (4_726) Bl
R:HYYRGT4 T35 B: 95y K- INT S
i # 3 | BBREH 1:13.6 8-6 38.7| 832 | 12 434 | BHT EH)
7=l 54.0 3/4) Croy | (B) R
L:d—IRAqO— B:YqYr7—Fz FARBRER 5
= i 3 | AlFBIEA 1:13.7 12-12  [38.3| 82.2 | 7 478 | BEBFIGL (i)
10/5/9| 2T EIZTIL—F 7¢53.0 (1/9) o |ERE
R:d—IWR7PY2— B:a44tw17L1Y ESlite
N NS L1 HE— : = hEFRA (EM)
ilzlisl @21 7EL K/ — 10 i 3 i 1.711:,::_8 3-3 39.3| 82.3 | 15 (4_128) E*gm
R:F4—TZh4 B:HYIZAHTI4X Nipse]
- 4 3 | BEAIEM 1:14.0 15-13 38.5| 79.7 | 9 478 | BERE (EH)
12|8(16) VT —=—"7 1%~ 5.0 (172 o |Bmcey
ey )&dyk B:PN/abMT INEHIS
s g os = HD#{E 4. - . . FREE= (EH)
13l 1] 2| N EHYS 3 =2 1(134)5 1-1 40.2| 776 | 2 zzg)z R
29T bA—T7—FK=-F B:214%I+>X INAINA T 7 — L
RS # 3 | AHEEHR 1:14.7 3-9 40.1| 75.8 | 10 | 464 | mEEEK (i)
E=12 Wiz 56.0 (1 1/4) (+4) BREE
L4 a BTN NSRS
— N — s 3 | JIHEEES 1:14.9 3-6 40.3| 74.4 | 16 | 436 |EFHLE EH)
15/8|15| =¥/ 7Y =71 54.0 (1 1/4) () | BN
R:2a—-)rgO0-x B:JOYTIAR-% s
7z s 3 | FF L 1:14.9 12-16 [ 39.5| 72.9 | 13 | 460 |FERIEL (i)
1ol g | 71~ A1 - A51.0 (75%) @ | W g1->x- 5%
Y9G4S B:LFAT4T75 imbie]
@ 71 L
) 49.4-37.8
NA>Z4 L | 11.9-10.8-11.6-12.4-12.4-13.0
® I —F—@EBIERL
13=3r=
230—7F—
Gol=5r= (x¥2,10) (4,5,12,13,15) (7,14)1,3(9,6,8) (11,16)
40—F— (¥2,10) (4,13)5(7,15,14) (3,12,1)9(11,6,16)-8
[ N3
B O 10 170 714K 1-10 390M e E 1-5 300 JEHE 1-10-14 3,100/
8 B 10 110 10-14 470M B = 1-10 870M B 10-1-14 8,150
1 220 1-14 1,570@ | | B B 10-1 1,020M
14 240H




